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the widths was S

Use these statistics in a test of the hypothesis that these skulls belong to
a race previously found nearby in which the average width is known to be 146 mm. Assume a nearly

normal population. Perform the test at o = 0.1.
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(b) Test statistic is T =

P-value= for for degrees of freedom n —1 =
(c) UDR: If P-value< a = 0.1, conclude H,. Otherwise, conclude .

(d) Because P-value conclude

That is, the skulls from their widths the race found nearby.




(The Problem is from Hypotheses Test.)
